

Features of acute coronary syndrome associated with anxiety and depression disorders

Poponina T.M.¹, Repin A.N.², Poponina Y.S.^{1,2}, Gunderina K.I.²

¹ Siberian State Medical University of the Ministry of Healthcare of the Russian Federation, Tomsk, Russia.

² Cardiology Research Institute, Federal State Budgetary Scientific Institution «Tomsk National Research Medical Center of the Russian Academy of Sciences», Tomsk, Russia

AUTHORS

Tatiana M. Poponina, MD, PhD, Professor, Professor of the Department of Cardiology, Siberian State Medical University of the Ministry of Healthcare of the Russian Federation, Tomsk, Russia. ORCID: 0000-0002-6900-6190

Alexey N. Repin, MD, PhD, Professor, Head of the Department of Ambulatory Cardiology, Cardiology Research Institute, Federal State Budgetary Scientific Institution «Tomsk National Research Medical Center of the Russian Academy of Sciences», Tomsk, Russia. ORCID: 0000-0001-7123-0645

Yuliya S. Poponina, MD, PhD, Associate Professor of the Department of Cardiology, Siberian State Medical University of the Ministry of Healthcare of the Russian Federation; Cardiologist of the Department of Emergency Cardiology, Cardiology Research Institute, Federal State Budgetary Scientific Institution «Tomsk National Research Medical Center of the Russian Academy of Sciences», Tomsk, Russia. ORCID: 0000-0001-8167-1778

Kseniya I. Gunderina, MD, Cardiologist of the Department of Arterial Hypertension, Cardiology Research Institute, Federal State Budgetary Scientific Institution «Tomsk National Research Medical Center of the Russian Academy of Sciences», Tomsk, Russia. ORCID: 0000-0003-0804-4334

Cardiovascular Diseases (CVDs) are a leading cause of death, with the highest mortality rates observed during exacerbations of Coronary heart disease (CHD). A high incidence of affective disorders has been demonstrated in patients after acute coronary syndrome (ACS), both in the inpatient and outpatient settings.

The aim of this review is to present and analyze data from national and international studies on the features

of ACS, associated with anxiety and depression disorders, published between 2016 and 2024.

Methods. The review was prepared using materials from peer-reviewed articles published on PubMed, eLIBRARY. RU, cyberleninka.ru, and the other resources from 2016 to 2024 were used.

Results. Along with well-established cardiovascular risk factors (RFs), such as arterial hypertension,

smoking, and obesity, stress, anxiety, and depression are also recognized as risk factors. Due to hemodynamic disturbances in ACS, ischemic brain injuries may occur. These can lead to severe conditions, such as vascular delirium, as well as less severe disorders manifesting as cognitive impairment, sleep disorders, anxiety and/or depression.

Conclusion. To date, there are no clear, joint cardiology and psychiatry guidelines on diagnosis and management of psychiatric disorders in patients with ACS. Psychological and pharmacological interventions can have a positive effect and should be considered for ACS patients with depression, anxiety, and stress. Prior to discharge, all patients should be screened for mental disorders using validated questionnaires and, if necessary, a psychiatric consultation.

Keywords: Acute coronary syndrome, myocardial infarction, stress, anxiety, depression, risk factors, delirium, sudden cardiac death, antidepressants.

Conflict of interests: none declared.

Accepted: 25.06.2025

Received: 02.08.2025



For citation: Poponina T.M., Repin A.N., Poponina Y.S., Gunderina K.I. Features of Acute Coronary syndrome associated with anxiety and depression disorders. 2025. 13(47):31-36. DOI: 10.24412/2311-1623-2025-47-39-45

Introduction

Cardiovascular diseases (CVDs) remain a leading cause of death, with the highest mortality rates observed during exacerbations of coronary heart disease (CHD) [1]. A high incidence of affective disorders has been demonstrated in patients after acute coronary syndrome (ACS), both in the inpatient and outpatient settings [2, 3]. Experts of the European Society of Cardiology (ESC) and the American Heart Association have noted an increasing impact of psychosocial factors, such as stress, depression, and anxiety on the development and progression of CVDs [4-6]. Due to hemodynamic disturbances in ACS, ischemic brain injuries may occur. These can lead to severe conditions, such as vascular delirium, as well as less severe disorders manifesting as cognitive impairment, sleep disorders, anxiety and/or depression [7-9].

The aim of this review is to present and analyze data from national and international studies on the features of ACS, associated with anxiety and depression disorders, published between 2016 and 2024.

Methods

The review was prepared using materials from peer-reviewed articles published between 2016 and 2024 on databases such as PubMed, eLIBRARY.RU, CyberLeninka, and other relevant scientific platforms.

Results

Along with well-established cardiovascular risk factors (RFs), such as arterial hypertension, smoking,

and obesity, stress, anxiety, and depression are also recognized as risk factors [10]. However, to date, there are no clear, joint cardiology and psychiatry guidelines on diagnosis and management of psychiatric disorders in patients with ACS. Thus, an update to the ESC guidelines on ACS from 2023 [10] contains only one paragraph dedicated to mixed anxiety-depressive disorder (MADD) in ACS (13.2.4. Psychological considerations), reflecting the correlation between depression, anxiety, and stress and worse outcomes. Psychological and pharmacological interventions may have a positive effect and should be considered for ACS patients with depression, anxiety, and stress. Prior to discharge, all patients should be screened for mental disorders using validated questionnaires and, if necessary, a psychiatric consultation [5, 10].

The incidence of stress, anxiety and depression disorders in cardiovascular disease

The meta-analysis of 15 international clinical studies revealed that anxiety, depression, and psychosocial stress was associated with a 28% CVD risk increase [11]. MADD was most frequently observed in patients after acute myocardial infarction (AMI), with chronic heart failure (CHF), after cerebral strokes, in patients with atrial fibrillation (AF), as well as following advanced treatment procedures: coronary artery bypass graft (CABG) surgeries and implantations of cardioverter-defibrillators [12-14]. Chronic depression symptoms were identified in 65% of individuals with AMI, with every fifth of them diagnosed with an MADD [15]. According to research data [16], in pa-

tients with AMI, symptoms of anxiety, depression, and post-traumatic stress disorder (PTSD) occur in 9–60%, 11–20%, and 12–19% of cases, respectively. Stress, anxiety, and depression precede the development of AMI in 6–25% of cases [17]. Thus, ESC experts concluded the negative impact of anxiety, depression, and PTSD in patients with CVDs [18]. Derisi M.M. et al. mention in their work a 25.55% increase in the frequency of mental disorders among patients with coronary heart disease (CHD) from 2000 to 2021 compared to the period 1984–2000 [19]. Stress, anxiety, and depression are found in 58%, 33%, and 31% of patients with CVD, respectively [20, 21].

Stress, anxiety, depression, and the risk of adverse cardiovascular complications

A meta-analysis of 17 prospective studies, which analyzed the condition of 39,038 patients with ACS, found a 25% increased risk of adverse cardiovascular events (CV events) in patients with ACS associated with anxiety. However, after adjustment for depression, anxiety was not statistically significantly associated with mortality risk ($p=0.37$) [22]. Possible reasons for the link between depression and increased frequency of adverse CV events included lack of adherence to a healthy lifestyle (smoking, low physical activity, etc.), medication and rehabilitation non-adherence. ACS can cause post-traumatic stress, and PTSD triggered by ACS, in turn, can increase the risk of subsequent adverse CV events and mortality in patients. Clinically significant symptoms of ACS-induced PTSD are associated with a doubling of the risk of death and/or ACS recurrence (relative risk 2.00; 95% confidence interval (CI) 1.69–2.37) in patients with ACS who have clinically significant PTSD symptoms compared to patients without PTSD symptoms [22].

Mujkanovic J. et al. studied all cases of death among residents of Denmark aged 18 to 90 years in 2010 by analyzing death certificates and autopsy protocols: out of 4.3 million residents, the authors analyzed 45,703 death cases, of which 6,002 were caused by sudden cardiac death (SCD) [23]. The incidence of SCD was 1.79–6.45 times higher among patients with mental disorders than in the general population and was statistically significantly dependent on age ($p < 0.001$ in all age groups). In analyzing all death certifi-

icates and autopsy reports, the authors paid special attention to the medications that had been prescribed to the deceased¹.

Delirium and adverse outcomes in acute myocardial infarction

Delirium is an acute condition characterized by confusion, acute disturbances in attention, consciousness, or thinking, developing over several hours or days due to an underlying illness or medication side effects. Delirium cannot be explained by an alternative diagnosis or a comatose state [24].

Forms, key signs, and symptoms of delirium

There are three forms of delirium: hypoactive, hyperactive, and mixed. The key signs and symptoms of delirium include impaired attention (97%), long-term memory deterioration (89%), short-term memory deterioration (88%), disorientation (76%), reduced visuospatial abilities (87%), speech disturbances (57%), and disturbances of perception (50%) [25]. The Montreal Cognitive Assessment (MoCA) and the Confusion Assessment Method for the Intensive Care Unit (CAM-ICU) are used for the detection of delirium. The incidence of delirium in patients with AMI ranges from 1.4% to 11%. Delirium not only prolongs hospitalization but also increases in-hospital mortality by 1.4–1.9 times [26, 27].

Risk factors for delirium development

Predisposing factors for delirium include: advanced age, male sex, central nervous system disorders (dementia, stroke, Parkinson's disease), visual or hearing impairments, alcohol intoxication, immobilization, and alcoholism accompanied by dehydration [24, 25, 27].

Initiating factors for delirium development include: use and/or withdrawal of narcotic, toxic, and other psychotropic substances; severe acute illness; urinary tract infection; hypoxemia; hyponatremia; shock; anemia; pain syndrome; bladder catheterization; surgical interventions; admission to the intensive care unit (ICU); and a high number of medical procedures. Pharmacological risk factors for delirium development include: narcotic analgesics (primarily morphine); psychotropic drugs (benzodiazepines, tri-

¹ Mujkanovic J, Warming PE, Kessing LV et al. Use of antidepressant medication linked to substantial increase in risk of sudden cardiac death. <https://www.escardio.org/The-ESC/Press-Office/Press-releases/Use-of-antidepressant-medication-linked-to-substantial-increase-in-risk-of-sudden-cardiac-death>

cyclic antidepressants, haloperidol, phenothiazines, Belladonna-derived drugs, antiparkinsonian agents); drugs with anticholinergic activity; certain antibiotics; codeine; cimetidine; captopril; dipyridamole; hypothiazide; digoxin; furosemide; isosorbide dinitrate; nifedipine; prednisolone; theophylline; and other drugs such as antihistamines, laxatives, non-steroidal anti-inflammatory drugs, H₂-histamine receptor blockers, and anticoagulants.

The incidence of delirium can range from 5.7% in AMI patients admitted to the ICU to 40% in patients who have undergone open-heart surgery. Delirium, as a clinical manifestation of acute brain dysfunction syndrome occurring against the background of myocardial infarction (MI), is a serious complication of the underlying disease with an unfavorable prognosis.

Efficacy and safety of antipsychotic drugs in patients with delirium and myocardial Infarction

The efficacy and safety of antipsychotic drugs (neuroleptics) in patients with delirium and MI have not been sufficiently studied to date. An analysis of nine observational studies found that the odds of developing AMI were 1.88 times higher (odds ratio [OR] 1.88, 95% CI 1.39, 2.54) in users of antipsychotics compared to individuals who did not take antipsychotics. A subgroup analysis revealed an OR of 2.48 (95% CI 1.66, 3.69) among patients with schizophrenia and an OR of 2.64 (95% CI 2.48, 2.81) among short-term (<30 days) antipsychotics users. The authors of this meta-analysis confirm an increased risk of MI in users of antipsychotic drugs, demonstrating an elevated and more pronounced risk of AMI in short-term users [28]. In a number of studies, male sex, a diagnosis of schizophrenia, and antipsychotic exposure periods of < 60 days were associated with a higher risk of MI [29]. In a large nationwide cohort of patients admitted to the

hospital, Park Y. et al. found a slight increase in the risk of death within one week of initiating treatment with haloperidol compared to atypical antipsychotics [30]. The increased risk was noted within the first four days and was no longer apparent by the 5th day of observation. These findings are consistent with a large body of data from previous outpatient studies demonstrating a higher risk of mortality associated with the initiation of typical versus atypical antipsychotics [30]. The results of this study suggest that atypical antipsychotics may be a less harmful treatment option for elderly patients with AMI [30].

Conclusion

CHD and mental disorders are leading causes of morbidity and mortality not only in Russia but worldwide. Due to the high prevalence of depression and mortality from MI and CHD globally, the observed association between depression, MI, and SCD has significant public health implications. Psychological and pharmacological interventions may have a positive effect and should be considered for patients with ACS associated with depression, anxiety, and stress. Prior to discharge, all patients should be screened for mental disorders using validated questionnaires and, if necessary, a psychiatric consultation. The timely detection, treatment, and prevention of anxiety and depression can significantly reduce the risk of MI and SCD. However, to date, there are conflicting data regarding the efficacy and safety of antipsychotic drugs in patients with AMI and delirium. In the future, there is a critical need to develop national guidelines for the diagnosis and treatment of comorbid mental disorders in patients with CVD for cardiologists, internists, general practitioners, psychiatrists, and other specialists.

Conflict of interest: none declared.

References

1. Vaduganathan M, Mensah GA, Turco J V et al. The Global Burden of Cardiovascular Diseases and Risk. A Compass for Future Health. *J Am Coll Cardiol.* 2022;80(25):2361–2371. DOI: 10.1016/j.jacc.2022.11.005
2. Belialov FI, Sumin AN, Garganeeva NP et al. Mental disorders and cardiovascular diseases: guidelines of the baikal psychosomatic association and the siberian psychosomatic association. *Complex Issues of Cardiovascular Diseases.* 2024;13(3S):222–253. Russian DOI: 10.17802/2306-1278-2024-13-3S-222-253
3. Nonka TG, Lebedeva EV, Repin AN Clinical features of coronary artery disease and 5-year survival of patients after myocardial infarction against the background of depressive disorders. *Therapeutic archive.* 2024;96(1):17–21. Russian DOI:10.26442/00403660.2024.01.202560
4. Thompson DR Which Females Have the Highest Rates of Depression and Anxiety Following Acute Coronary Syndrome? *Cardiology.* 2023;148(1):20–22. DOI: 10.1159/000528624

5. Visseren FLJ, Mach F, Smulders YM et al. 2021 ESC Guidelines on cardiovascular disease prevention in clinical practice. *Eur Heart J.* 2021;42(34):3227-3337. DOI:10.1093/eurheartj/ehab484
6. Levine GN, Cohen BE, Commodore-Mensah Y et al. Psychological Health, Well-Being, and the Mind-Heart-Body Connection: A Scientific Statement From the American Heart Association. *Circulation.* 2021;143(10):e763-e783. DOI: 10.1161/CIR.0000000000000947
7. Panteleev OO, Ryabov VV. Delirium in a patient with myocardial infarction. *The Siberian Journal of Clinical and Experimental Medicine.* 2022;37(3):49-55. Russian. DOI: 10.29001/2073-8552-2022-37-3-49-55
8. Wu Q, Kling JM. Depression and the Risk of Myocardial Infarction and Coronary Death. A Meta-Analysis of Prospective Cohort Studies. *Medicine.* 2016;95(6):e2815-9. DOI: 10.1097/MD.0000000000002815
9. Poponina TM, Gunderina KI, Poponina YuS, Ryabov VV. Analysis of the S100B protein level in patients with acute coronary syndrome associated with anxiety and depressive symptoms. *The Siberian Journal of Clinical and Experimental Medicine.* 2023;38(2):82-88. Russian DOI: 10.29001/2073-8552-2023-38-2-82-88
10. Byrne RA, Rossello X, Coughlan JJ, et al. 2023 ESC Guidelines for the management of acute coronary syndromes. *European Heart Journal.* 2023; 44: 3720-3826. DOI: /10.1093/eurheartj/ehad191
11. Gaffey AE, Gathright EC, Fletcher LM, Goldstein CM. Screening for Psychological Distress and Risk of Cardiovascular Disease and Related Mortality: A Systematized Review, Metaanalysis, and Case for Prevention. *J Cardiopulm Rehabil Prev.* 2022;42(6):404-415 DOI: 10.1097/HCR.0000000000000751
12. Pushkarev GS, Kuznetsov VA, Fisher YA, et al. Impact of Depressive Symptoms on All-Cause Mortality in Patients with Congestive Heart Failure After Cardiac Resynchronization Therapy. *Cardiology.* 2019;59(1):5-11. Russian DOI: 10.18087/cardio.2019.1.10211
13. Kronish IM, Edmondson D, Moise N, et al. Posttraumatic stress disorder in patients who rule out versus rule in for acute coronary syndrome. *Gen Hosp Psychiatry.* 2018 Jul-Aug;53:101-107. DOI: 10.1016/j.genhosppsych.2018.02.007
14. Ben-Shoshan J, Segman-Rosensteig Y, Arbel Y, et al. Comparison of Triggering and Nontriggering Factors in ST-Segment Elevation Myocardial Infarction and Extent of Coronary Arterial Narrowing. *Am J Card.* 2016;117(8):1219-1223. DOI: 10.1016/j.amjcard.2016.01.038
15. Tofler GH, Kopel E, Klempfner R, et al. Triggers and Timing of Acute Coronary Syndromes. *Am J Card.* 2017;119(10):1560-1565. DOI: 10.1016/j.amjcard.2017.02.022
16. Chan B, Buckley T, Tofler G, et al. Emotional Stress and Physical Exertion as Triggers of Acute Myocardial Infarction. *American Journal of Cardiology.* 2023;203:285-287. DOI: 10.1016/j.amjcard.2023.07.085
17. Smyth A, O'Donnell M, Lamelas P, et al. Physical Activity and Anger or Emotional Upset as Triggers of Acute Myocardial Infarction. *Circulation.* 2016;134:1059-1067. DOI: 10.1161/CIRCULATIONAHA.116.023142
18. Piepoli MF, Hoes AW, Agewall S et al. 2016 European Guidelines on cardiovas-cular disease prevention in clinical practice. *European Heart J.* 2016;37:2315-2381. DOI: 10.1093/eurheartj/ehw106
19. Derisi MM, Nasiri MJ, Aryan A et al. Prevalence of psychiatric disorders in patients with ischemic heart disease: A systematic review and meta-analysis. *J Res Med Sci.* 2022;27:12. DOI: 10.4103/jrms.JRMS_864_20
20. Karami N, Kazemini M, Karami A, et al. Global prevalence of depression, anxiety, and stress in cardiac patients: A systematic review and meta-analysis. *Journal of Affective Disorders.* 2023;324:175-189. DOI: 10.1016/j.jad.2022.12.055
21. Lissåker CT, Norlund F, Wallert J, et al. Persistent emotional distress after a first-time myocardial infarction and its association to late cardiovascular and non-cardiovascular mortality. *Eur J Prev Cardiol.* 2019;26(14):1510-1518. DOI: 10.1177/2047487319841475
22. Li J, Ji F, Song J, et al. Anxiety and clinical outcomes of patients with acute coronary syndrome: a meta-analysis. *BMJ Open.* 2020;10(7):e034135. DOI:10.1136/bmjopen-2019-034135
23. Mujkanovic J, Warming PE, Kessing LV et al. Nationwide burden of sudden cardiac death among patients with a psychiatric disorder. *Heart.* 2024; 110(23):1365-1371. DOI: 10.1136/heart-jnl-2024-324092
24. Patil S, Gonuguntala K, Rojulpote C et al. Delirium is an important predictor of mortality in elderly patients with ST-elevation myocardial infarction: Insight from National Inpatient Sample database. *Coron. Artery Dis.* 2020;31(8):665-670. DOI: 10.1097/MCA.0000000000000978
25. Grover S, Ghosh A, Sarkar S et al. Delirium in Intensive Care Unit: Phenomenology, subtypes, and factor structure of symptoms. *Indian J. Psychol. Med.* 2018;40(2):169-177. DOI: 10.4103/IJPSYM.IJPSYM_274_17
26. Abdullah A, Eigbire G, Salama A, et al. Impact of delirium on patients hospitalized for myocardial infarction: A propensity score analysis of the National Inpatient Sample. *Clin Cardiol.* 2018;41(7):910-915. DOI: 10.1002/clc.22972
27. Jäckel M, Zotzmann V, Wengenmayer T, et al. Incidence and predictors of delirium on the intensive care unit after acute myocardial infarction, insight from a retrospective reg-

Review article

- 36 Poponina T.M., Repin A.N., Poponina Y.S., Gunderina K.I.
Features of acute coronary syndrome associated with anxiety and depression disorders
DOI: 10.24412/2311-1623-2025-47-39-45
-
- istry. Catheterization and Cardiovascular Interventions. 2021;6:1072-1081. DOI: 10.1002/ccd.29275
28. Yu ZH, Jiang HY, Shao L, et al. Use of antipsychotics and risk of myocardial infarction: a systematic review and meta-analysis. *Br J Clin Pharmacol*. 2016;82(3):624-32. DOI:10.1111/bcp.12985
29. Huang K-L, Fang C-J, Hsu C-C, et al. Myocardial infarction risk and antipsychotics use revisited: a meta-analysis of 10 observational studies. *Journal of Psychopharmacology*. 2017;31(12):1544-1555. DOI: 10.1177/0269881117714047
30. Park Y, Bateman BT, Kim DH, et al. Use of haloperidol versus atypical antipsychotics and risk of in-hospital death in patients with acute myocardial infarction: cohort study. *BMJ*. 2018;360. DOI: 10.1136/bmj.k1218